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ob 170100 250

oo 0O TERM (00 PATHODOODOOOODOOOO
O0000)D0000000(@C TypedOOOODO
O TERM OOOO0OO0OO0OOO ePATHODODODODO

e clearenv/(]
0000 00000 ooooooooooon

000000 (00000000000)0 nooooooooooood
> print [S(Z+Z)+Z] e play[GAME]

S(Z+Z)+Z

> print@00[S(2+2)+7] 000 GAMEDOODOODO
5(z+2)+2

> play[Nat]
Let’s play Nat!

e prctx[]

oboooooooobooo e load[FILENAME]

000000DO0oO0oOon0 FILENAME 00O
e reduce{@PATH |CBV |CBN}[TERM] ooooooooo
O TERM DO0OD0OO0O0O0O00O PATH OOODOO
00000000 OCBY (Call By Value) 0O 0O
CBN (Call By Name) DO OO0O0OOOOODOOO
00000OO0DOO0DOO0ODOO0oDoDOoDOOoDooDg e0od
00 (00O0oooooono)o

e quit([]
gooooooooooo

e help[{ COMMAND}]
0000 COMMAND 000000000000

> reduce[S(Z+Z)+Z]
S(Z42) 47 —-> goo0oooooooooooooooooooo
it = S(Z+2)
> reduce@00[S(Z+Z)+Z]
S(Z+Z)+Z --> OooooOoooo
it = S(2)+Z
o let VAR {= TERM};

e eval CBV|CBN[TERM] 00 VARODOOOODO TERM 000000
O TERM 0O CBV (Call By Value) D OO CBN uooooooodd
(CallByName)DDDDDDDDDDD o | VARREF
> eval CBV [S(Z+Z)+Z]

S(z+2)+2 0000 VARREFOOOOODOOOO
--> S(Z)+Z ———
-—> it = 5(2) Stk
Sy R > print[x]
-—> 5(2+2) g
> it = S(2) Zprlnt[!x]
> let x = S(!x);
e isredex{@PATH}[TERM] z = 5(2)
> prctx[]
DTERM(DDDDDD PATH OOOOOOO z =2 x=28(02)
> print [!#x]
D)DDDDDDDDDDDDDDD z

o typeof{QPATH}[TERM]



